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Multiple Choice (Answer ALL).

I The kernel is of user threads.

A. apartof
B. the creator of - -
C. unaware of
D. None

. Which directory contains device files in Linux?
A. Jetc
B. /bin Co4 BT1
C. /dev
D. /root

M. is a computer process whose parent process has finished
or terminated, though it remains running itself.
A. An orphan process

- BT1,

B. A zombie process ' €02 BTZ
C. Achild process
D. None

V.. The range of Nice number in linux system is
A. -10to +10
B. Oto+10 co2 BT1
C. -20to +20
D. 0to+20

V. function provides a read barrier.
A. wmb
B. read co2 BT1
C. ‘write
D. rmb




VL. Semaphore supports two atomic operations: P() and V(). In linux, the
equivalent function of P() is
A. down() o 1}33%
B. up()
C. onl)
. D. off()
VIl The dentry is one of the main components of the common file model - s | e
in virtual file system. (true/false)
VIll.  The default file system in linux is
A. inode
B. ext?2 Co3 BT1
C. etc
D. ntfs
IX.  Symbolic link is one of the example of inode file type. (true/false) i )
X.  The kernel provides a representation of its model in userspace
through the virtual filesystem.
A. sysfs e
B. sysrq o4 1 Br2
C. softirg
D. ‘ext2
Q2 | Fillin the blank (Answer ALL). 5X1=5
.- One of the device model data structures is o
1L is a communication channel between the processor and o e
an input/output device.
Il On x86, it is possible to map 2M and even 1G pages using entries in
the second and the third level page tables. Such pages are called - BT1
pages.
Iv. In linux, each zone is represented by data structure in BT1
3 o3 !
the mmzone.h file. BI2
V. In linux, processes with priorities (100-139) are
processes. el S
Q.3 Answer any FIVE. 5X5=25
. Write a note on top-half and bottom-half in linux. s | B
i BT2
IL. What is deadlock? Explain self-deadlock. How can deadlock be o
1,
prevented? €03 | Brp
11 Describe the Completely Fair Scheduler in linux. coz BT1
IV.  Explain kobject structure in linux. cos | BIL
: ; . : BT1,
V. Explain atomic operations with example.S cos ol
BT3
VL. Differentiate between fork() and vfork(). i BT,
Z BT2
VIL.  Explain write cache policies in linux. BT1,
co3 BT2
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